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10 Write shori answers to any FIVE parts. -gﬂauﬁjﬂ&ﬂ?’g%&f =1
Dhefine restoring force and write is formula, i Afpilerts
Diefine the pitch of saund L Ae N
Provethat  v=T4 walfd g-.".:.rm- i)
For spherical mirmor, define rdins of curvature and focal lengih. -.fé'nyﬁfﬁﬂp,{.;fJnhﬁ; ;,.J,L_Jc k& (i)
Diefine inial internal reflection. S AN
Write the nudible sound frequency range. e REE Mo e vy
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10 Write short answers o any FIVE parts. _ﬂumﬁﬁ,mﬁk_&f =3

Define electric current, 'Wirite its 1 unit also, il v oAl @
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Hiow the potential differencs scross & cifcuil component i measunsd? [mw its dizpram.
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iDefine the term Bilowati-hour. How much Toules are inone kilowatt-hom?
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State the mubs 1o fmd the directicn of mapnelic Geld snound the current canmyi
) g MOV NN LA SV, f¥)
I trutaal indhaciion et the current in first ooil béomes seady, Wl pboufizid b
Wirite the nmes of foar logie gles. Lo W _ﬁrmu{ﬁ* i)
Which logic gate is also called inverter? Draw its symbglso. 16 'EF m.;;,ﬂ gl Wl e ns i)
Deaw the circuit disgram of AND-gate. 4500 Wl o TH & bptflta il S AMD (i)
10 Write short answers to any FIVE par{iesd N5 oL ik s
How & capacitor stoees & charge? ) L e
Define muning cireuil s , E AP
State Coulomb's kv and write formuals for finding forme. TP Il % R TIUE A
What is the difference betwien dats and information? e JASEELRE (v
What is meant by software? e slpife jsedt-  (v)
How light signals are sont through optical Tber? L AL A PBVEC R
What is mesnt by unstable puclei? e B oirfd in
Define nuclear fusion. - AR A iy
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Part - I, Anempiany TWO questions. Each question carries 09 marks, |

04 L oeflsfrln e kel ST e AR (U s
Define simple wndullum Prowe that motion of 2 simple pendulom is simple harmonic motion also
wirile down its time period equation.
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A capacitor holds 0. ﬂﬁ Coulombs :rl“-r:har,g: when fully charged hj’ a9 voli battery, Calculale
capacitance of the capacitor.
Al B 668 ()
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lectromagnetic induction and ex Ia n with example,
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An object is 30cm tall located 10.5cm from a concave mirror with focal length | 6em:

(i) Where is image located?  (ii) How high is it?
04  Define radiisotopes and write ite two uses. ﬁff_. W'ﬂi@léi_yﬁhr! ieTpds () 7
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By applying a potential difference uﬂﬂl"ﬂ’ across a conductor, a current of 1.5A passes through it.
How much energy would be obtained from the current in 2 minutes?
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( Part-1 U duas ) » |
Write shorl answers to any FIVE parts. --ﬂ@&tﬁfﬂﬁﬂz g E-Jf |
Deefing wave, LaAln W

Lebbedn e 0dm A a1 fﬁﬂgﬂmﬂfﬁﬂrﬂﬁ' (il

A wave moves on a slinky with frequency af 411z rmd ﬂmlmglh ol ldm. Find speed of wave.
Wy longitadinal waves meve fuster than irnsverse waves In solids? Tud b ggﬁgjggﬂuhrfpngﬁgmgﬁ i
,gffﬁ_f el el L vé—ffurikéihff?’rd}ah {iv)

Wrise equation to find speed of sound and ndso wrile one fctor wiich ifects speed of sound.

What is sound? Flow it is produced? fe Uleifisg 2 Te el il )
DaiTerential: behwoen concave and conves IGiron -y ﬁ'ﬁdﬁuﬂiﬂf rerd [¥i]
Define angle of incidence and angle of refmetin, i ARPE 3 T B A T B i
Wirile sign eonventions for lerses for focal bength. é’aﬂfnsl.mr'ﬂ.a; ﬂjf._ﬁj;-l [viiiy
Write short answers to any FIVE paris. £HP Bz 'gkd"—ljf
Why amemeler is connected i series o measins curment in clresit? e Pl 8y ol 0 L fb;d;-'ﬂ:_{s i
Write names of ssurces of em, ,Eﬂftﬁf.rﬂ_ﬁﬁlﬁl (i}
Wiriile twa featwrcs of parallel combination of resistors, A I | N, Y R 1)
Hew MOR gate 1= made? Teblibadadit (i)
Dirm the symbol dingram of DR, gate sl write i Boolean expressian _a;u;?-mﬁ.,ﬁ,rwﬁ_;,ruiufd;f T

Male the truth table for NAND gaie. e bR Lol ()
Write two wses of MBI in medical field. il Ml Lol K (i
‘ 2 ;. = J_;-ﬂ;'fa.r"“r—inll.ﬂﬂ:.vjfg{;;'} VR

YWrite short amswers to any FIVE paris, ‘:f;i ' ey

Dieflime Coulombys law snd wrile ils eqution. -ﬁ]' ci A3 _.f.s.l_ali..r-JUJﬂu,fuf_ﬁLlﬂﬁi uff i
e 4y
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Writs the formiala for the equivaben capscilances fior & series eambanalian ol rumber of @paciiors,

Define Farsd, LAl g
Wiite twa advantages of electronic mail, AT ) o 7 R
What is the dilferemsee between data snd information? T%g}lg;ﬁﬁlﬁhﬂﬁ! iw)
Hisw ase light signals sent ihrough aptical fibers? N T e L AT i)
Wit is meant by Backgrousd radlations? Testebe gL ALE i
Wha is meas by half life? T pble FU (viid)
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Part - I1, Attempt any TWO questions. Each question carvies 09 marks.
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Define loudness. On what factors does the lowdness depends? Explain, :
sfetisd Lol bl e bl Patipu Posova sty L PRI0V B ety Leac gl ()
A ﬁm charge of +2C is transferred from a point at potential |00V to a point ot potential 50, :
What would be the energy supplied by the charge?
What is transformer? Explain its working, ,@ﬁ ot g 1 :,J" fﬁr. T%tﬂbffgl.la"iﬁ {uili}
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An othject 4cm high is placed af a distance of 12em fram u convex lens of fscal length Bem.
Caleulate the position and size of image.
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What is meant by nuclear fission renction? With the help of equation Eu,pl.njn about the energy
released in each Mission eveni.

Giella ) Fwdbusd ov ALt e the 3 /a1 im0 4 60 (L)

, s wngs £ (i) i
Two resistances of 6k} and | 2k0) are connected in parallel. A 6V battery is connected across its
ends. Find the values of following quantities:
(i} Equivalent resistance of parallel combination (i) Current passing through each of the resistance.
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